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2017 July CCNA 200-150 Exam Dumps with PDF and VCE New Updated in www.Braindump2go.com Today! 1.]2017 New
200-150 Exam Dumps (PDF & VCE) 106Q& As Download:http://www.braindump2go.com/200-150.html 2.]2017 New 200-150
Exam Questions & Answers Download:
https://drive.google.com/drive/folders/OB75b5xY LjSSNV mxoUEhT TmZZM X c?usp=sharing QUESTION 61What is the principle
function of the data center core layer? A. high-speed packet switchingB. access controlC. firewalling and intrusion prevention
D. QoS marking Answer: A QUESTION 62Which two options are valid VTP commands? { Choose two) A. feature vtpB. vip
client modeC. vitpVLAND. vtpversionE. vtp static Answer: AD QUESTION 63Which two are functions of the data center
access layer? (Choose two) A.  server connectionsB.  VLAN creationC. packet filteringD. high datatransfer rateE. high
network fault tolerance Answer: AB QUESTION 64How many bits are contained in each field of an IPv6 address? A. 24B. 4C.
8D. 16 Answer: D QUESTION 65When you configure the Call Home feature on the Cisco Nexus 5000 Series Switch, which
three parameters are mandatory? (Choose three.) A.  contract IDB. email-contactC. switch priorityD. phone numberE.
customer IDF. siteIDG. street address Answer: BDG QUESTION 66Which field in an Ethernet frame is used to verify that the
received frame contains no errors? A. FCSB. typeC. preambleD. segmentE. protocol Answer: A QUESTION 67Which
IPv6 addressis the equivalent of the IPv4 interface loopback address 127.0.0.1?A. :1B. :C. 2000::/3D. 0::/10 Answer: A
QUESTION 68Which three statements about | Pv6 prefixes are true? (Choose three.) A.  FF00:/8 isused for |Pv6 multicast.B.
FEB80::/10 is used for link-local unicast.C. FCO0::/7 isused in private networks.D. 2001::1/127 is used for loopback addresses.E.
FEB8O0::/8 is used for link-local unicast.F. FECO::/10 isused for |Pv6 broadcast. Answer: ABC QUESTION 69Which two options
describe Junctions of the data center aggregation layer? (Choose two) A. serviceslayerB. high-speed packet switching O
repeaterC. access controlD. QoS marking Answer: AC QUESTION 70Which option includes the two devices that can be
connected when a Cisco Fabric Extender Transceiver isused? A.  Server to Cisco Nexus 5548 SwitchB.  Server to Cisco Nexus
5010 SwitchC. Cisco Nexus 2000 Series Fabric Extender to Cisco Nexus 5500 SwitchD.  Server to Cisco Nexus 2000 Series
Fabric Extender Answer: C ''RECOMMEND!!! 1.]2017 New 200-150 Exam Dumps (PDF & VCE) 106Q& As Download:
http://www.braindump2go.com/200-150.html 2.]2017 New 200-150 Study Guide Video: Y ouTube Video:
Y ouTube.com/watch?v=ySnz1P|ssK A
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